Homework 1

Due on October 11
(No Late Homework Accepted)

1. Find the number(s) c referred to in the Intermediate Value Theorem for each function over the indicated interval and for the given value L.

  (12 points)
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2. Using Horner’s method to find P(c). (12 points)
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3. Find the error in these approximations: (16 points) 
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4. Convert the following fractions into an infinite repeating binary 

fractions. (15 points)
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5. Show that the binary expansion:
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  (15 points)

6. Write a MATLAB code that will convert a nonnegative number in the decimal representation into the binary representation using N binary digits with the smallest error. Report the error of this binary  representation and test your code on Question 3, (a) and (b). You can use two vectors to represent your results (one for the integer part and another for the decimal part). You may use the following code as a platform but it is not required. (30 points)

   The following code must be saved as binaryrep.m.

   function [Int_v, Dec_v, error] = binaryrep(a, N)

    % a is the input number in the decimal    

    % representation

    % N is the number of binary digits

    % Output:

    % Int_v is the vector that represents the 

    % integer part of the input number a

    % Dec_v is the vector that represents the decimal   

    % part of the input number a

    % Note that length(Int_v)+length(Dec_v)=N

7. (Extra 20 points) Extend your code to the negative numbers.

_1063193213.bin

_1063193773.bin

_1063194473.bin

_1063194519.bin

_1063209946.bin

_1063193833.bin

_1063194383.bin

_1063193664.bin

_1063192891.bin

_1063193109.bin

_1063192827.bin

